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Il Semester B.Com. Examination, May/June 2018
(CBCS) (Freshers + Repeaters) (2014-2015 and Onwards)
COMMERCE
Paper — 2.6 : Quantitative Analysis for Business Decisions - |

Time : 3 Hours Max. Marks : 70
Instruction : Answer should be either completely in English
r or Kannada.
SECTION - A

Answer any five sub-questions from this Section. Each sub-question carries
two marks. (5%2=10)

1. a) Define statistics as per Prof. Bowley.
b) Distinguish between primary data and secondary data.
c¢) Give the meaning of “Questionnaire”.
d) Write any four requisites of a good average.
e) What is C.V. given the mean 56, variance 144 of 60 items ?
f) Qq is 20 Qg is 45, what is its co-efficient of quartile deviation.
g) How do you calculate ‘Mode’ when it is ill-defined ?

SECTION - B

Answer any three of the following. Each question carries six marks. (3x6=18)

2. In a sample study about the food habits in two towns, the following was
observed.
Town X': 50% persons were males
30% were non-vegetarians
18% were male non-vegetarians

Town °Y’: 45% persons were males
25% were non-vegetarians
16% were male non-vegetarians

Tabulate the above observations.
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SM - 476 . MO0

3. Compute mean wages of worker from the following data :
Wages(Rs.) :48-56 56-64 64— 72 72-80 80-88 88-96 96— 104

Number of
workers . 8 3 11 14 5 7 2

4. Calculate mode from the following data :
X : 0-9 10-19 20-29 30-39 40-49 50-59 60-69
f : 678 720 664 598 524 378 244

5. Calculate mean deviation from median from the following data :
Wages (Rs.) No. of Workers

Less than - 10 5

Less than — 20 13

Less than — 30 20

Less than — 40 32

Less than - 50 60

Less than - 60 80

Less than - 70 90

Less than — 80 100

6. Calculate standard deviation from the following data, using Step Deviation

method.

Wages (inRs.) : 10 20 30 40 50 60
No.of Workers : 8 12 2g 10 7 3

SECTION -C
Answer any three questions. Each question carries fourteen marks. . (3x14=42)

7. The scores of two batsmen ‘A’ and ‘B’ in ten cricket matches is given below :
A : 3228 47 63 71 39 10 60 96 14
B : 19 31 48 53 67 90 10 62 40 80
Find whether batsman ‘A’ or ‘B’ is more consistent in scoring.
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8. Calculate the Pearson’s co-efficient of skewness from the following data :

Age : 0-10 10-20 20-30 30-40 40-50 50—60 60—70

No. of
person: 10 i2 24 32 28 11 3

9. Price and quantity of the base year and current year for 8 groups of commodities
are given below :

Commodities Price | Quantity
Base year | Current year | Base year | Current year
') 12 20 55 120
B 10 12 100 80
Cc 14 15 60 80
L 16 18 30 20
E 18 20 40 40
F 20 15 70 60
- 20 16 90 100
H 15 18 80 80

Calculate Fisher’s Ideal Index numbers and how it satisfies TRT and FRT.

10. From the following data of the wages of 122 workers, determine the model
wages with the help of grouping table and analysis table.
Wages (Rs.) No. of Workers

100 - 110 4
110-120 6
120 — 130 20
130 — 140 32
140 — 150 33
150 — 160 17
160 — 170 8

170 - 180 2
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11. Convert the following distribution into more than cumulative frequency curve
and less than cumulative frequency curve and find median graphically.
Wages (Rs.) No. of Workers

0-20 82
20 -40 112
40 - 60 150
60 - 80 95
80— 100 48
sE e
RN - D
B4 DIONROT FINT NPT 2T GVT-T, 3 riert evgor. I8 evs T3 1
QT SOFNED : (5x2=10)

1. a) &p. WPICTT oo, TOAT 59,500, JH3) TRB.
b) a_g,ﬁSm TF03g T DSecdd TWHY0BF QUT BTANTEI ?
C) “TITe"’ o wPrITY, TAR.
d) 200 2,500 TR0 T, VTLINTY WTCD.

€) QWINPT TBOERY 3,3, 0N FOREBAD.
rede BooR0 56, 60 ©08rd P 144.

f) Q;—-20, Qz—45 ©BY, BTO IT-MOLBITY FOBLEOWD.
g) SRR tSob &T [9,TNTT, AT TR WY FoRGHETFTO Ber ?

en -
83 39N CIRYTRTTR ReTH BB Cu08. BTN 6 BosReD : (3x6=18)

2. TR TNV IET FRwee Bpezrdodd W50 88 FIFOR SO FORUWOTD).
Te3ee X' 1 50% Hoomad
30% WR0TTOND |
18% R)TOR 20mT2OND
TE3ED Y’ 1 45% FHoORD
25% BROTOTHONGO
16% RYTOR =20F0T2ONED
eds ©OBNYRY, TWeIETTED WRA.
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3. NS 508 ©oBNLOT FoF T RNTIRD a:aé)oi:aigl FOWROEROD.
3RO (Cr.) : 48—-56 56-64 64-72 72-80 80-88 88-96 96—104
FOXMTT

:J'O&%

4, 3PN =08 L0INPVOT BB :;icm:d@abagt F0ROHBOWD.
X : 0-9 10-19 20-29 30-39 40-49 50-59 60-69

f : 678 720 664 598 524 378 244

8 3 11 14 5 7 2

5. Xoox0 DWLBORY WO, TR ATCRCT 24 BN 208 L03NON FoBOLRBOWD.

gnd (8r.) -1 rgvlele] :;‘oaiﬁ

308 3@~ 10 5

808 R0 — 20 13

308 3@ — 30 20

308 3R — 40 32

808 TR0 — 50 60

808 3R 60 80

808 3@ — 70 90

808 TRw0 — 80 100 _
6. FIFNT 0% LOTNPOT RVNIT WWLS wa;aomocs (Step Deviation) 98¢,

BTOTORFODRY, TORIELROWD,

gRQ (Tn.) 10 20 30 40 50 60
#vﬂmddﬁcaﬂﬁz 8 12 20 10 7 3

TN - A
33 FINST CORPTTTR Bwedh T3 N9R LVSOR. T3 3,31 14 ©osnsh : (3x14=42)

7. '’ TP ‘W' 0w BT SWMPTTO TS TOBNTS, BAES T/ B2 08 Q.
N : 3228 47 63 71 39 10 60 96 14
®w : 19 31 48 53 67 90 10 62 40 80
e DT Negoddd Beud), TSN TRODTT QOWTRY, FOBIERBOWD.

8. FVNT ToRONPOT LONT R A@mes0d mmoﬁwaﬁi FORO&ROD :

sedbzy 1 0-10 10-20 20-30 30-40 40-50 50-60 60-70

=ene
Sy 10 12 24 32 28 11 3
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9. w3y Tommeartvat, BuRe SHF 8) 1Y) BRFTION 0L TONBE B
g 3R BREING.

3 SoRme
SERbHIED TRw FHE WY TR RO =HE WY TR
A 12 20 55 120
B 10 12 100 80
C 14 15 60 80
D 16 18 30 70
E 18 20 40 40
F 20 15 70 60
G 20 16 90 100
H 15 18 80 80

JWO'TRT BTTF AFPosm BAROT RN, 0FNTFRY WA T 83 AT T
uwmaﬁws% TN 20T WHDDH waeﬁm <:>:ba'tgi Sen 3@&3 TRROYT 0T
3REOA.

10. 39N 122 5200793, 3D 03Ne0E, WEIS FTPRODR, M0F) ajai B
DB T3 FEOODOOT FORB0D.
260 (85.) $o3mos Xoss,

100 -110 4
110-120 6
120 -130 20
130 - 140 32
140 - 150 33
150 - 160 i
160-170 8

170 -180 2
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1. 8 89808 Tm0ariven DUV R eTHED Y FT CesnTs Tux, w3
RTRROCDR) FoHE, MO

20 (Br.) FOIMTT ﬁoaj'ﬁ
0-20 82

20 - 40 112

40 - 60 150

60 — 80 95

80 - 100 48




